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k Jr (O, 0K, on) ak bk Ck dy,
1 2 cos? Ok sin? 0, 1 D C -S
2 | sin? 0k (1 — sin? 0, cos? ©n) 1 D C —-S
3 sin? 0k (1 — sin? 0, sin gah) 1 -D C S
4 sin? O sin? 6, sin 2¢p, Csin(6L —9)) Scos(dL —9)) sin(61L —§)) Dcos(dL —4))
5 2v/25in 20 sin 260, cos ¢y, cos(§) — do) D cos(6) — o) Ccos(d) — o) | —Scos(d) — do)
6 —1V/25sin 20k sin 26, sin @y, Csin(6y — d¢) Scos(d1 — do) sin(dL — do) D cos(61 — o)
7 25in% 0, 1 -D c S
8 +V6sin 6k sin 26, cos @, Ccos(d) — Js) Ssin(d) — ds) cos(d) — ds) Dsin(d) — ds)
9 — £+/6sin 0k sin 20, sin ¢, sin(6, — ds) —Dsin(§L — 6s) | Csin(d, — ds) Ssin(6, — ds)
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4 in2
3V3cosfk sin” 0,

C cos(dp — 0s)

S'sin(dp — ds)

cos(dp — Is)

Dsin(dp — ds)



